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General Instructions :

Read the following instructions carefully and follow them :

(i) This Question Paper contains 34 questions. All questions are
compulsory.

(it)  This Question Paper contains two sections :
Section A — Macro Economics
Section B — Indian Economic Development

(iit) This paper contains 20 Multiple Choice Questions type questions of
1 mark each.

(iv)  This paper contains 4 Short Answer Questions type-I questions of
3 marks each to be answered in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions type-II questions of
4 marks each to be answered in 80 to 100 words.

(vi) This paper contains 4 Long Answer Questions type questions of
6 marks each to be answered in 100 to 150 words.

(vii) Attempt all parts of a question together.

SECTION - A
(Macro Economics)
1. ‘Money is an asset which can be stored for use in future. 1

In the light of given statement, identify the function of money.

(@
(b)
(©
(d)

58/5/1

(Choose the correct alternative)
A measure of value
A standard of deferred payment
A store of value

A medium of Exchange

@ E i P.T.O.
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2. “IAER IR H I g1 o JoIsTd ! &IH H W g4, WA e a1 gol IR

H R 3T () o1 563 A 1 fora fen 2 17 1
PH fafma @yt sfasag | (98 fosea g ek wam <61 gfd 1)
(a) (b) =
(¢)  weifera et @ T|-W
3. frafefea semi 1 eam & sreE &l 1

HUA 1 ; forehi fg—gimren stefogereen o, Suvi =2 o frorer =2 9oy 4T % € gk 8Id & |
HAA 2 : THY T 5k TS YATSg H IATcHE & HI BT 2 |

feu U el o 3Tetiss J, FfaRaa O 9 w&l fased o1 ==m i

(a) FUT1TTEIANHYT2 IHA R |

(b) HUH 13T INHIT2TAE |

() HUT1IAN2TNHAE |

(d) U1 3R 2 GHI A F |

4.  TAH Sqe | T | qread T AR H F |
(T T aAH) 1
(a) TS WAl YT ST =T @rar yifei
(b)  ISTATA GTAT ST 61 ISPTa @t STfeai
(c) I AT Sl T TTteEi
(d) THENTSTA ST S Tt yrfed

5. (A) i I9 11 few e e § @, @& T (pair) 1 =5 6 | 1
it — 1 i — 11
A. | fsft =il o 3ms 1% wfesrat (i) | TR-feoom wfafafe
B. | et (Taxi) % IR 9 IIH HR (ii) | STTRIT ]
C. | T T g YISk oTd I3 (iii) | dfira s
D. | S%hR g foreht B &1 ¢ I At 8Ed | (iv) | R 3T
feremea
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2. “Considering the depreciation of Indian Currency (%) in the international
market, the Reserve Bank of India (RBI) has decided to purchase Indian
currency (%) in the open market.” 1
This represents exchange rate system.

(Fill up the blank with correct alternative)
(a) fixed (b) flexible
(c) managed floating (d) manipulated

3. Read the following statements carefully : 1

Statement 1 : In a two sector economy, consumption expenditure and
investment expenditure are the two components of Aggregate
Demand.

Statement 2 : Aggregate demand curve always start from point of origin
with positive slope.

In the light of given statements, choose the correct alternative from the

following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(¢) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.

4.  ‘Deficit’ in Balance of Payment (BOP) refers to the excess of
(Choose the correct alternative) 1
(a) Current account payments over Current account receipts.
(b) Capital account payments over Capital account receipts
(c) Autonomous payments over Autonomous receipts
(d) Accommodating payments over Accommodating receipts

5.  (A) From the statements given in Column I and Column II, choose the

correct pair. 1
Column -1 Column - 11
A. | Vegetables grown in the Personal garden | i) | Non marketing activity
B. | A car used as a taxi (11) | Consumer good
C.| An air-conditioner used by household | (iii) | Capital good
D.| Scholarship given to students by (iv) | Factor income
government
Alternatives :
(a A-@ () B-(@1)
(¢ C-—(ii) (d D-@Gv)
OR

58/5/1 {5 > E i P.T.O.
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B) fr=fefaa arferent 1 qu i - 1
ScdTEh SUTEA I Hed | WeATd SU9T | 9o dfg
%9 (Farmer) 2000 — 2000
I (Baker) | . G, 2000 2000
e fashdl (Retail Seller) 4,400 (@) 400
El e 6,000 | Gv)....
forpea
(a) 4000, 10400, 4000, 4000  (b) 4000, 10400, 4000, 4400
(¢ 2000, 6000, 6000, 4400 (d) 4000, 10400, 6000, 4000

6. (A

B)

gfe fereft srefeemen A, fow TUrp 4 TUT TR 3T T 30 HUS 7, I JTER

T Bl BAT | (Td foper g fs A AT gfd opl) 1
(a C=30+0.75Y b) C=(-30+025Y
¢ C=30+025Y d C=(-H30-025Y

o
afe TP 1T H gig 9 w=a H ghg SR &, @1 Hiwia 3w 59 (MPC) H1 e

__ Fm| (wEt feped g fh S ST g shl) 1
(a) TS TUK (b) TS U T
(€) THEUHA (d) I T

7. fafafigd suai w1 eH 9 AT 1

A 1 : W 8 5z 3yl (M) ¥, anfrfSees Sl & o win s wfirfed T e € |
HAT 2 2 7T AT (M) & AT, Th ToRIY 3T o SR SIiurfssh bl o qT6 39eredl

IR AR |

few e et & sretes 1, fFefafRaa 3@ 9wt foepea 1 =mm hifs

()
(b)
()
(d)
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(B) Complete the table : 1
Value of | Intermediate Value
Producer .
output | Consumption Added
Farmer 2000 — 2000
Baker | . ... 2000 2000
Retail Seller 4,400 LG 400
Total L) 6,000 L)
Alternatives :
(a) 4000, 10400, 4000, 4000 (b) 4000, 10400, 4000, 4400
(¢) 2000, 6000, 6000, 4400 (d) 4000, 10400, 6000, 4000
6. (A) If in an economy, the Investment Multiplier is 4 and Autonomous
Consumption is ¥ 30 crore, the relevant consumption function would
be . (Fill up the blank with correct alternative) 1
(a) C=30+0.75Y b) C=(-H30+025Y
¢ C=30+025Y d C=(-30-025Y
OR
(B) If increase in National Income is equal to increase in Savings, the
value of Marginal propensity to Consume would be . 1
(Fill up the blank with correct alternative)
(a) equal to unity (b) greater than one
(¢c) lessthan one (d) equal to zero
7. Read the following statements carefully : 1

Statement 1 : Money supply (M;) in India does not include ‘demand

deposits’ with commercial banks.

Statement 2 : Money supply (M,) refers to, assets available with the

Commercial Banks during a particular period of time.

In the light of the given statements, choose the correct alternative.

(a)
(b)
(c)
(d)

58/5/1

Statement 1 is true and Statement 2 is false.
Statement 1 is false and Statement 2 is true.
Both statements 1 and 2 are true.

Both statements 1 and 2 are false.
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8. (A) TH fifsr, s fafewr T18s (£) 1 g, SR dmehdl o HROT, T 70 | Fgeh 3 80
BT | 36 FTERIRA T @) S eI d_ g3m g |
(Tt fareheq 1 =2 )

o

(a) HeaE (b) eI
(© e (d) e

AU

B) °F AT, Ty Y < g B Ug X § gerehifa tfee 2 | 38 wed J, 31 91 9uH
A W, Frefafaa § & form uitfeurfa & 819 <6 gurmear gaffas g 2
(T faresheq T = ) | 1

(@) TEX H SR dqe ey
(b) Tg X ¥ AR HGH H1eT
(© TEXITPYHfiadafg
(d) TP Y H SR A T

9. frafefad wum & u¢ — 3rfiem (A) 3R ®Rw (R) = fou e foshedi & @ s @&
ﬁa»—chgﬁ 1
atfreRem (A) : gof TR & e, 3T STl & ST A R |
FR0T (R) @ 01 Tomr bt feafa o, srrfera woigll ou o weft werm o gegeh sufdadi i
YR YT BT 2 |
%F:qu:

(a) FAMRYA (A) 3SR (R) ST T & 3 HRU (R) e (A) sl T&l same
2

(b) IR (A) 3R BN (R) SHI T 8 31 HR0 (R) 3T (A) shi &1 same
EHER

(c) IR (A) T B Afhd Rl (R) A 2 |

(d) 3ThheT (A) 31 8 wfeht SRuT (R) T B |

10. U Irefegaen § Hiwid s=a ygfa (MPS) 1 e 0.25 7 | afg fraw 7 3fg 7 200 w

7, 1 3T ¥ gfg 1 qe =1 g ? 1
(a) 2003 ®) T 150 F
() % 1,000 %TE (d) T 800FHUS

11. = <fifsr fopeft Tg & oot T 9%g X 1 & Scare B ® | 99 2018 92019 H 9% X
ST 3cATE HAS: 100 GAT 110 TH1E o7 | 39 & 991 H 9% X 1 qed FHAM: T 50 a7
3 55 hHI: T |
¥ 2018 T YR ¥ I g, a9 2019 T Iredfdeh Tehel B¢l 3cd1e (GDP) o wfersrd
Tt Y TTUHET R |
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8. (A) Suppose, the price of one UK Pound (£) has increased from ¥ 70 to
T 80, owing to market forces. 1
This means that value of Indian Currency (%) has
(Choose the correct alternative)
(a) appreciated (b) depreciated
(¢) revalued (d) devalued
OR
(B) Suppose, Country X, has more inflation than Country Y. Which of the
following is most likely situation to happen in such a case, assuming
other factors being constant ?
(Choose the correct alternative) 1
(a) A surplus trade balance in Country X
(b) A deficit trade balance for Country X
(¢) Arise in exports from Country X to Country Y
(d) A deficit trade balance for Country Y

9. Read the following statements — Assertion(A) and Reason (R). Choose one
of the correct alternatives given below : 1
Assertion (A) : Full employment refers to, absence of involuntary
unemployment.

Reason (R) : Under full employment situation, all willing and able
bodied people get employment at prevailing wage rate.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).

(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

10. In an economy, the value of Marginal Propensity to Save (MPS) is 0.25,
what will be the value of increase in income, if investments increased by

T 200 crores ? 1
(a) 200 crores (b) R 150 crores
(¢) T 1,000 crores (d) T 800 crores

11. Suppose only one Good X’ is produced in the country. Output of Good X
during year 2018 and 2019 were 100 units and 110 units respectively. The
market price of the product during the two years was ¥ 50 and ¥ 55 per
unit respectively.

Calculate the percentage change in Real Gross Domestic Product (GDP) in
year 2019 using 2018 as the base year. 3

58/5/1 {9 > E i P.T.O.
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12. (a) T SR GRT, Ioci@ hi fob TEATARET HYH Hed & 31T 3EH 3
() Tt fraw @y o, S @ % Ffsc v d e Brar g |
(i) 9T GET1 o qoagrd & TR frafa st Sieame faem |
Jneren
(b) T e & FHTEISH iH—a1 § fardg & | 3

13. Toret arefegaeen 4, afe fenfa s=a Faifsa few @ s1fuss 2, a1 3m, Sames 9 TR
T 3Heh GHTIad THTE h1 SHTEAT L | 4

14. 6 30T, 2022 %1 ‘The Hindu’ ¥ wehiiyra frferiad aumem = s
“aret fesd s 6t Aifges Aifa afafa MPC) 3 301 @ 8 50 TR 37k i gfg hir g 1
T e Soh 1 39 TohR hl wRard) & fi & guifad SR o IRormE! 6l g=@ 9

ST H | 4
15. (a) TIHR b T I TATGHR & €T H keI Seh h ffieht 1 e i | 4
Sreran
(b) Tod W e 1 gy st | g8 § saren w6, e IR I8 Sy i
Sehi g <A1 T8 |G g oh! FRIGT a2 | 4

16. () (@) Tret uy $i afim 3ma $i A s ° fAfafaa w1 fre yeR =eEr J
AT SRR ? HI= SR G | 3
() wrd § faesf St grr srfia oy |
(i) U HH gRT ITEet TR o UR T |
dD) =M i, foret foxfr ad o ush TP &1 9K oI T Tha wie] 3cTg
(GDP) % 1,100 &g o1 | faeett & ymad 3 &R 3™ T 100 HUe, I
FATFT H T 150 HUS 7T TTH 31 T 850 HirS oft | 3

IR FT oh ST T YEGT o Yoo <hi TUMET HY |
Jrere
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(a) Giving valid reasons, state whether the following statements are
true or false : 3
(1) Dividend received from investment abroad is recorded on the

credit side of the capital account.
(i) Depreciation of the Indian Currency will lead to promotion of
Indian exports.
OR
(b) Distinguish between Autonomous transactions and Accommodating
transactions. 3

If planned savings exceeds planned investments in an economy, explain
its likely impact on income, output and employment. 4

As per the following news published in ‘The Hindu’ on 6tk August, 2022 :
‘The Monetary Policy Committee (MPC) of the Reserve Bank of India
raised the Repo Rate by 50 basis points.’

Identify and explain the likely cause and consequences behind this type of

action taken by the Reserve Bank of India. 4
(a) Explain the role of Central Bank as Governments’ agent and advisor. 4
OR

(b) Define Reverse Repo Rate. Discuss briefly, how this instrument
helps in controlling credit creation by commercial banks. 4

(a) (I) How should the following be treated in estimating National
Income of a Country ? Give valid reasons. 3
(1) Profits earned by Foreign Banks in India.
(i) Expenditure on upgradation of fixed asset by a firm.

(II) Suppose in a financial year, the Gross Domestic Product (GDP)

at market price of a country was ¥ 1,100 crore. Net factor
income from Abroad was ¥ 100 crore, the net indirect taxes was
¥ 150 crore and National income was T 850 crore. 3
Calculate the value of depreciation, on the basis of above
information.

OR

58/5/1 <> E i P.T.O.
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b) O “c=fafe gr ae 9ic] 3c1E (GDP) T 31Tkl hid T8, I €I Y 5

frenfomt g feru s wRfRa g 2 1”7 3

1 3719 feu 70 e W TeEHd & ? 794 I S U H 9T SR < |
D) fr=fefaa srthel grT Tie] 3T <Al TUHT i : 3
w . T W (K W H)
Q) Rt 9 Waedt 1,300
(ii) I I BT 200
(i) | 9A9 9 A (Fehg o THR H) 1,700
iv) g =t 400
) L RE 400
(vi) gfaenia st 300
(vil) | < 400
(viii) | foreeT & T Ig A1eH A () 120
(ix) wfrnfrat <61 fufya s 1,400
(x) ik H aiad (-) 200

17. few e foz =1 grear 9 stemT o
U formt ol o foru o wa v
Ferma & W TS & |9

2%
few e fom 9 9= 9 S SR 9 EieTRed TeEl % ST e

(a) To=r o < g wel bt Rt/ R-aRT Tfeerl o affend ot | 3
(b) “@hR = ek b1 faren o wareen St 30 AaTd yem 0 W 3Ry ST
IR L fean g 17 3

IR hU o 3TTelloh H, SATSAT i foh ‘3T shl JFHHATI bl HH hid & T
TTHR S il o1 fohd T T2 o dehell B |
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(b) {d) “While estimating Gross Domestic Product (GDP) by
expenditure method, entire focus is on expenditures incurred by
the residents of the country.” 3
Do you agree with the given statement ? Give valid reason in
support of your answer.

(II) Calculate the value of Domestic Income from the following data : 3
S. No. Particulars Amount in
R crores)
(1) Rent and Royalties 1,300
(11) Net Indirect Taxes 200
(111) Wages & Salaries (in cash & in kind) 1,700
(iv) Corporate Tax 400
(v) Depreciation 400
(vi) Retained Earnings 300
(vii) Dividends 400
(vii1) Net Factor Income from Abroad (-) 120
(ix) Mixed Income of Self Employed 1,400
(x) Change in Stock (-) 200

17. Study the given picture carefully :
Sources of State and Local
government tax revenues for a financial year

Individual
Income Tax |f
Corporate 20%
Income Tax Property
3% Tax
35%
Sales & Gross
Receipts Tax
34%
Motor Vehicle
License Fee
2%
Answer the following questions based on common knowledge and picture :
(a) Categorise the given items in the picture into tax /non-tax receipts. 3
(b) “Government has started spending more on providing free services
like education and health to the poor.” 3

In the light of above statement, explain how the government can use
the budgetary policy in reducing ‘inequalities of income’.

58/5/1 {13 > E i P.T.O.
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Qg - @

(VR Steferareen o foerm)

18. 9Ra #H forfemt wmem % 37dma, YR HfY I H % RO AGEHAT 1 3TIHE
fepam e | (T fpea BT ) 1
(a) wEafered o (b) TR weate= 6t fepred
(o) Y-=Fdaen (d) I+ A

19. (A) YT T H 3R hl TS B Shifd o SR 3caTeT shadl Tqeh e o |
GHAEETR AR T |

(a) 3T el (b) TE T ==
© HIHITR (d) SO S
Jreran
(B) __ ! WA AT o (HTAT o &9 H ST 11 8 | 1
(a) TR TEE (b) o, meeEe
(© ¢ e fg (d) =T o v
20. (A) fr=ferRad oAl 1 eaTYE® 31 1

HUF 1 : 1950 < T H <4 H HEH FAGRT FREh{qeh ST T STRE 3T T |
A 2 : = o @ § geud: IcTe &7 1 AeH § |
few T el % SATets U, FAfeRaa O @ g2 fasew 1 =em Hifsu -
(a) AT 1HT R INHYT 2 3T 2 |
(b) HUYT1IEALINFYT2 TR |
() HUT1IAN2TNHAE |
(d) o 13K 2 THI T E |
T
(B) frfafad § 9 31 57 6 Tg= (T fopea HTETAH) 1
(a) =t 3ol gfg o wifchea & FER R |
(b) uIRFE HDIWRTH TRa 4 fi & |
(c) IR J “Tehed sToTeh HIfel ST ATHES AU T |
(d) 1991 H R 3 T STTifeh GEri T TR AT |

58/5/1 ChiC]



“®collegebatch com

SECTION -B
(Indian Economic Development)

18. During the British rule in India, Indian agricultural output witnessed

stagnation due to . (Choose the correct alternative) 1
(a) Decline in handicrafts (b) Drain of Indian wealth
(¢) Land settlement (d) Introduction of railways

19. (A) In the first phase of Green Revolution, output was restricted mainly

to . (Choose the correct alternative) 1
(a) Cereals and Pulses (b) Wheat and Rice
(¢) Cotton and Jute (d) Jowar and Bajra
OR
B) is known as the architect of Indian Planning. 1
(a) dJawaharlal Nehru (b) P.C. Mahalanobis
(¢) Dr. Manmohan Singh (d) Dr. Rajendra Prasad
20. (A) Read the following statements carefully : 1

Statement 1 : Great Proletarian Cultural Revolution was
introduced in China in 1950’s.

Statement 2 : China’s growth is mainly contributed by the
manufacturing sector.

In the light of given statements, choose the correct alternative from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.

OR
(B) Identify the incorrect statement from the following : 1
(Choose the correct alternative)

(a) China’s Economic growth rate is better than that of Pakistan.

(b) Pakistan is behind India in HDI ranking.

(¢) One Child Policy norm was adopted in Pakistan

(d) In 1991, India adopted New Economic Reforms.

58/5/1 {15 > E i P.T.O.



“®collegebatch con

21. T2 M "ET 7, S A R STERRATS] ¥ HEfed Afd S o qedehd
HA B | 1
(a) HEHRI 0T AH{AT (b) & wmfior S
(c) Tl TERIAl HE (d) e (NABARD)

22. f=fefga wem =1 u@ — AT (A) 3T wRw (R) = feu U oot o & wh @&l
ﬁﬂv_ﬂ?ﬁ 1
AR (A) : 1980 % < H TTehEdT i 3T forehmd ot Wit & 31fere oft |

HRT (R) : iipea 3 sl o wrastfe &= 1 sew wrflerl arett fifda smfdies s
o W o1 STFEXT foham o |

ferehen -

(a) IR (A) 3R HR (R) | THT T & 3T HRW (R) 3Afweped (A) hT odt
T |

(b) ARHAA (A) TR FRO (R) THI T 2 3T HRO (R) Tfeher (A) i 92 s
T

(c) MU (A) e & fehd 10T (R) 16 7 |

(d) TR (A) 379 & Tfeh T (R) T § |

23. TeaH H, & freferfaa # & oo wra & wa st fomfor <6 amen 3 gefoq 2 2 1
Q) wfeawn gemrE (i) T Reafores aw
(iii) IhgHM SE= (iv) dmTRees g § aftad
ferehea -
(@ @@ (b) (1) 7 (1)
() @), @) = (1) (d @FaGv)
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21. is the apex institution which plans and evaluates policies related
to rural credit needs. 1

(a) Cooperative Credit Societies (b) Regional Rural Banks
(¢) Self Help Groups (d) NABARD

22. Read the following statements — Assertion (A) and Reason (R). Choose one

of the correct alternatives given below : 1

Assertion (A) : During 1980’s, economic growth rate of Pakistan was

more than that of India.

Reason (R) : Pakistan followed the path of mixed economic structure

with equal participation of the public and the private sector.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the

correct explanation of Assertion (A).
(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

23. Identify, which of the following are associated with the problem of human

capital formation in India ? 1
(1) Brain drain (1) Low academic standards

(111) Rising population (iv) Changes in social outlook
Alternatives :

(a) () and (i1) (b) (i) and (iii)

() (), (@) and (iii) (d) @) and (iv)
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24. freferfea st S eamYEs U - 1
FoA 1 : foiv anfis &= (SEZ) Hifq & sror = 8 y=r yerer faesft fewr (FDI) &1
JeITg 3T T |
FHUA 2 : = 1 e AT fohmE 1981 1 35k STl i o1 qRomH o |
few T el & SATets U, FfeRaa O @ g fasew &1 = Hifvu -
(a) YU 1T g 3TN HYA 2 IFAE |
(b) FUT1IFILINFATI 2T |
() HU1IN 2T TAE |
(d) HYT 132 ATIR |

25. UM i foh, gt & Hed ¥, frafafga d @ sl e e 2 2 1
(a) HETHAT hY IR HET (b)  ITIAY TR LT
(c) gftr s7uer (d) Hicd fawaes TaTd Ye T

26. TEaH i fob, frferiaa & @ “uftres Seen sraTa’ i o o e e g wE g 7
(TEl fopea smraa ) 1

% T I %A A
(a) %—W@T x 100 (b) %—GT-R:I'@EITX 100
(c) %x 100 (d) %x 100
27. TrtaRaa ol &1 S | 31er 1

oA 1 : = 1 gy veaeia AT 1956 T IR 8 off |

oA 2 ; Aifeerd T (USSR) 1 T hid 5T WRA d = T 4 THTSETS! STefeew
ATt 1 I3 feham o7 |

few mu el & 3reties |, feferfaa § 9 wd fased o1 ==m Hifsw -

(a) FUT1TTEIANHYT2 TS |

(b) AT 1 FEAEINFAT2 TR |

() FYT1IN2STHATE |

(d) HUT1 3R 2 GHI 3HAF |
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24. Read the following statements carefully : 1

Statement 1 : Special Economic Zones (SEZ’s) policy has led to huge
Foreign Direct Investment (FDI) flow to China.

Statement 2 : China’s rapid industrial growth was the result of its
economic reform in 1981.

In the light of the given statements, choose the correct alternative :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.

25. Identify, which of the following is an incorrect function of environment ? 1
(a) Supplies resources (b) Assimilates waste
(¢) Land degradation (d) Provides aesthetic services

26. Identify, which of the following is the correct formula for calculating

‘Worker-Population Ratio” ? (Choose the correct alternative) 1
Total Labour Force Total Workers

(@) Total Population 100 (b) Total Population * 100

Total Population Total Population
© Total Labour Force * 100 G Total Workers * 100
27. Read the following statements carefully : 1

Statement 1 : First Five Year Plan of China commenced in the year
1956.

Statement 2 : Both India and China adopted Socialist Economy model,
following USSR.

In the light of the given statements, choose the correct alternative :
(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both statements 1 and 2 are true.

(d) Both statements 1 and 2 are false.
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28. SAHH THTauia Tt o He H, feu T fom |, axdt i ftfefa 6t smen i 3

(€] @

29. (a) “wre urhor 8 W, U uREr % e sufe Hrid B 8, T oft aftem 1 et
3T HHT=Id: S Bt 8 17
feu U e A gefifa SO <h) gg=e i qen sHd geft fotemme ) smen
| 3
Froran
(b) TS Al FROT STTATARATS bl I A H Y& 91 JUITeht il firpr A 2@ w1 3

30. ¥R Ud = I Fohed TS 3T (GDP) ht anfifer g & waifdra frferRaa gamm i germn

3 fereetor Y - 4
ThHe! T IUTG Sl AU Al
) 1980-90 | 2015-17
R 5.7 7.3
== 10.3 6.8

@4 : Asian Development Bank, Philippines, World Development
Indicator — 2018)

31. (a) () ‘Fsieptor o1 31ef ford | 1
(ii) “aTTfefeR R Wik & SV & W faga g9TE 3371 2 | fewaofi &t |
Froran
(b) forfesr smem gru smumed TaAT % faehm & el g1 roll &1 Ieor@ T =R
Exd 4
32. T RO R Scoid i foh, THTARGd heaH T 8 316 376 :
(a) 3o IATCHAT o IcATEH HIFT FHTEAT § fas 1 aiom 2 | 2
(b) S A gfg wre $oft Formfor <6 ToremT kT R T A R | 2
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28. Interpret the situation of earth as depicted in the given picture, with
reference to current environmental challenges : 3

@ @

29. (a) “In rural areas of India, more members of a family are engaged in
work, yet the gross income of the family is generally low.”
Identify the type of unemployment indicated in the above statement

and explain the paradox associated with it. 3
OR
(b) Explain the role of micro-credit system in meeting -credit
requirements of poor. 3

30. Compare and analyse the following information related to Annual Growth

of Gross Domestic Product (GDP) of India and China : 4

Annual Growth of Gross Domestic Product

Country | 1980 - 90 2015 -17
India 5.7 7.3
China 10.3 6.8
(Source : Asian Development Bank, Philippines, World Development
indicator — 2018)

31. (a) () State the meaning of ‘Privatisation’. 1

(1) ‘Agriculture sector has been adversely affected by the Economic
reform process.” Comment. 3

OR

(b) State and explain any two main causes behind infrastructural
development by British rule. 4

32. State, with valid reasons whether, the following statements are true or

false :

(a) “Higher productivity and production are the outcome of investment
in human resources.” 2

(b) Rising population is not the cause for quality of human capital
formation. 2
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33. (@) (i) oy fafaefmton r aftfia =t | 2
(i) ifaes SN F1 319 FaE | =REN FL fh, I8 FRE TR grofE fawE w
cHTEd L @ ? 4
e
() () YA T B T b TeETe sht SATwIhdT W == e | 3
(ii)  3CTEXYT Hfed JaTeRor Y SIS &A1 hl ST . | 3

34. frferfaa e 1 e S1LRA L TUT $Heh I HHT [H o SR R U 7T 5947 1
IWE
9T o forva IR wren @ Fremi o € ¢ 61 31E foper 7, ifeR o1 wTeSe Wi |
39 <1 ! WrerEl 1 fia foham St ook < @ ueret Y st b1 TTHAT @ ' | WA
YT ST 1 HH i H TERIAT hL Hehdl &, Tg WTO 1 IR T A i g it e o
FO HHE 2 |

i <1 for Wt 3 a1 B Fop @, S 9 St Afvas areeie a&qd § aun

foprasficr 9 Iudt g8 Srderawnati & foru ehl Iucteaan giafead w1 Agcaqel |
3B YR o Y& TN S8 — HTY IcTe H g o, AT hid Wl el HrishH
T Uh Y, Teh UM hTS Aroi1 A8 371 foraqwor d, 61 oft wrenm fopam |

(Source : The Economic Times; July 16, 2022)

(a) Tova =R @ & fohdl g g IE9al 1 Sooi@ o SARST . | 4
(b) WA GRI W L& 1 G5¢ T o {10 fohw 11w fohmell €1 shgHi <1 A1 fordd | 2
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33. (a) () Define Agricultural diversification. 2
(1) State the meaning of organic farming. Discuss how does it help
in promoting sustainable development. 4
OR
(b) (@) Discuss the need for promoting women’s education in India. 3
(i) Explain absorptive capacity of environment with example. 3

34. Read the following text carefully and answer the given questions on the
basis of the same and common understanding :

India urged the World Trade Organisation (WTO) to relax rules to allow
the country to export food grains from its public stocks to the nations
facing food crises. India can help, reduce food insecurity but there is
hesitation on the part of the WTO, in relaxing its rules. India’s Finance
Minister said food, fuel and fertilizers are global public goods and
ensuring access of these for developing and emerging economies is critical.
She also shared India’s experiences, including robust gains in agriculture
production, citizen centric food security programmes and innovative
delivery mechanisms such as the ‘One Nation one Ration Card’ Scheme.
(Source : The Economic Times; July 16, 2022)

1"

(a) State and discuss any two objectives of World Trade Organisation.

(b) Name any two steps taken by India to strengthen the food security. 2
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